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3.1 AR UUNITFUNUS (rational

* | JTYUNYUAAILAY Y158 FIDNUTY

QJo’ai

* paansile Ao 939 (true, T) %39 1WA (false, F)

) X=10,y=7
N AINUKRUY
a ¢ 1 o 4
1171037 UNIU ATNEAND

hlaen x<y Wi
UINNIATBLYINAY X>y 939
1oynNINsBLVINNY X>=y 239
Wiy X <=y Wi

Talwinfu =X REN

¥4 1w C++ Amadnsiduiaivasoniiulumbernudniues 0 dwrradnei
Husdstudiulag ALY o Fadhlaednlngaedonld 1 wudredndiusisinmg




Faeeeit 3.1

finclude <jpskreams
using namespace Std;
int main(}
{
bool Twvalue, EFvalue:
ipt = = 10, v = 5;
Iimlue = x > yr
Fuvalue ;

gomf << "True = " << Tyalue << gpdl:
gomf << "False = " << Fyalupe << gndl:

retorm O;

1
2
3
4
5
L
)
2]
9

Haandvaamsiulilsunsy

True = 1
False = 0
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1 %
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v

fnoe4i 3.2

EI"I‘FI‘I.I'FI'TIIIEI"I‘FII\J $include <j

using namespace shd;

int maini}

{
int x =1, v = £, = = 3;
gouf << (x > ¥y = z] << gndl;
gomb << (X > ¥y < =z} << gnpdls
gonf << (x > (¥ == 2]} =< gndl;
retarm O;

}

IR

RN e R - O Y OO U 8

=
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3.2 N1SLUSHULNIUAWAEY if

* yhnugemdnieriteululuase

* 19U DHUANLSIAZANTY Y158 MNUNTUNUALS IS LI UL
Fraeat 33

finclude <igShIesms

tinclude <jigmanip>

using namespace gbd:

%M mairm ([}

if (oulv)

{

int scorel, scorel, scored;

/* gafdanaaanisialusunsurineu double average;

[N T I DT U R o

f/Get the three test scores

o A a a
Luawau‘l%l’ﬂuaiq */ 10 zopt << "Enter 3 test scores and I will awverage them -";

& o 11 zin ¥» scorel >»> score? > scored;
189N 1; 1z
. 13 fF Calrulate and display the average
2: 14 average = [(scorel + scoreZ + scored) J 3.0;
¢ 15 gonf =< fixed << showpoint << zefprecision(l):

1& gout << "Your average is " << average << gndl:
17
18 ffif the average equals or greater than 100, display congratulation
13 ifiaverage »= 80]
20 {
21 zout << "Congratulation - ™;
22 copt << "That's a perfect score 1h\n";
23 }
24 retarn 0;
25 }
waanduansiulisunsy

Enter 3 test scores and I will average them :50 30 20 [ENTEER]
Your average i=s 33.3

Enter 3 test scores and I will average them :-100 100 30 [ENTEE]
YTour average is S&.7

Congratulation ;. That's a perfect score !



If — wilsReuluduasy

If/esle — vinuniinouluduase (ynAdan 1) uazilioRouluduwia (YaAds 2)

if (Rouly)
{
/* gaf1danaaIn1stilusunsy

Musiaauluiduase */

ANds; §
oyl

YRR YRR

/* gaf1dangaIn1stilusunsy
iudisRauluduig */

ANds;




AIRETHN 34

1 finclude <jpsiream™
Z2 #include <jgomanip>
3 using namespace ghbd;
4 ipt main(]

int scorel, scoreZ, scored;
double average:

fiGet the three test scores
coalh << "Emter 3 test scores and I will average them :-";
in *> scorel »* scoreZ > sScored;

Jff Calculate and display the awverage

average = [(scorel + score? + scoredl /S 3.0;
gouk << fixed << showpolnt << ssiprecision(ll;
copt << "Your average is " << average << epdl;

F/1if the awerage eguals or greater than 50, display pass the exam
iflaverage >= 50}
{
copk << "Congratulation - ";
zopt << "You pass the exam!\n";
}
elze

26 cout << "Sorry : ";

27 cout << ™You fail the exam!'\n™;
28 1

29 return 0;

30 ]

HaansvaamsFullsunsy

Enter 3 test scores and I will average them 35 20 15 [ENTEE]
Your awverage is 23_3
Sprry - You fail the exam!

Enter 3 test scores and I will average them 60 80 100[ENTER]
Your average is 80.0

Congratnlation ;. You pass the exam!




If — vireuioauluduass
if/esle — auiailaouludy
939 (Yadnden 1) waztilaouly
Juiia (gaedsi 2)

If/else if — IMauUAUTUSLATUN
ADINISNAEDUNANYS Wauly

3.4 N1SLWUSHULNIUN8AEY if/else if

i (aulei 1)

{
7 wnAndafdasnmidsunsurinau
dlaifauledi 1 dhuata

ﬁﬁd;

}

else i (Fouledi 2

{
/~ gandaimaansiisunsasinau
dlatfauledi 2 dhuafa

ﬁ"‘rﬁd;

}

elee i (Hauledi 3)

{
7~ wndndafdasnmsiisunsurinanu
dlaifauledi 3 dhuata

ﬁ"‘rﬁ'ﬂ;

@ o

Uit

ey




sout << "Enter a scor= and I will give you a grade - ")
Ein > SOoODEe;

1
2
2
-
=
&
7
g
)

fratai 3.5 (da)

1o if (socope <« €0)

11 l

iz sout << "Your grade
13 ¥

14 el if(=core= < T0)

15 {

16 eout << "Your grade
17 ¥

18 el if(=cor= < EB0)

15 {

20 eout << "Your grade
Z1 ¥

22 emloe if(=cor= < S0)

23 {

Z4 eput << "Your grade
23 ¥

Z2E eloe if(score <= 100)
27 {

Z8 eput << "Your grade
25 ¥

an

31 return O]

Az

waawivansiulsunsy
Enter a =core and I will give you a grade T3 [ENTER]
Your grade : C

Enter a =mcore and I will give you a grade 35 [EMTER]
Your grade : A



3.5 AALHUN1TRIInY (logical
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ANAUAIUFIAIVDINIANLUNITATING

* nApIlURAIuNSTaee fluinilifen Asleeau e
LYNAIAUNITYINGIY

#naeeil 3.6

finclude <igstresm™
uzing namespace shd;
int main()}

int x =0, ¥ = 17

AHUATUEAR AN

A1

1

2

3
I 1
- 5

[

)

g

mouk << "k k& ¥ EE 50 = " <« (x && ¥ && S0} << endl;
copk << "lx &8 y || x = " =< (lx && ¥ || x}] =< epdl;
m{{“};}gHE}x:"{{ I:}L}!lr||5}:|;} {{ﬁm;
1d returm O;

11 }

HaandzasmsuUsunsy

x & ¥ && S0 =0
Ix g8 ¥ |l x=1
x>y ||l §Fxx=1
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1l finclude <jpatre=m>
2 nusing ramespace std;
24 apt main(]
4
5 double incomes:
£ int years;
7
B ffG=t annnal income and year on the job.
g zeut << "What is your monthly income? ";
1o Bin > income;
11 Eout << "How many jyears have jyou worked at your current job? 7
2 BAD > years;
1a
14 f/Detemine if the applicant gualifies for loan
15 if [[income >= 25000] [ymars >= 3]
1e& {
17 zout << "You're gualified for a loan™;
hil: | ¥
15 eloe
Z0 {
2 seut << "You mu=t earn at least 35,000 Baht or\n™:
22 gout << "have been employed for more than 5 years=s to)\n;
2 cout << "gualify for a loan.\n";
Z return O

naansvoani1ssullswnsy

What is your monthly incame? 20000[EHTEER]

How many jyears have you worked at your current job? 2 [EWNTER]
Tou must earn =t least 35,000 Baht or

have been employed for more than 5 years to

qualify for a loan.

What is your monthly incame? 40000[EHTEER]
How many jyears have you worked at your current job? 4 [EWNTER]
Tou' re gqualified for loan.

What is your monthly income? 1S5000[EHTER]
How many jears have you worked at your current job? 10[ENTER]
Tou' re gualified for loan.




3.6 AALLUSLLAZVIULUANIS LY9U

N15U52NARILUTIUNYY CH++ a1u15aUsenalIntanle uades
naugnsenliu

HuuUsenidalngs) Audunagldau wu Ysenaliluvdenaes
Y

A& if
nsUsenadsnieluudan Seni1 dauusianea (local
variable)

Local variable 9gfivaulunnisviiusgnaluvdanivintiu

[ . | ¥ = Y
Aguanuaen local variable agliianunsagnansdiale
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1 #Finclwda <joglopamc:

2 uzing nammopocs ghds

3 Ang main(}

4

5 dotubla inoom;

E

7

8 fizat annwal incoma and yeas- on tha job.

5 ;;J.u_; <% "What ig yZous- monthly incoma? e

10 Sin 77 incoma;

11

12 FfIf incoma ig high anouwgh, get yaas wockasd

13 1T {incoma >— 350045

1a {

15 Sept << "How many yeds-f hawd you wZckKed At yous Cocoant jobi? 7,
1E AnE yea=8;

17 Sin 77 yRas=m;

18 1fiyaa=n 7— E}

15 SaRE << "Yom" =@ gualifiad. fnT;
20 walsa
21 SERE << "Yon EmArt Nhawa DBOOn amplosegd fos"

22 <% " mZo@ than & yaa=-g to ba gualified.n";
23 1

24 wloa

25 i

2E Soupt << "You Emot @3=n at laaat 35 000 E3ht to ba gualifiad ’n
27 1

L J
a7847140 3.8

28
25 eabturn d;
g ]
ar [ 3 L
HEAWEYE- FI‘1‘.I".I‘I.I‘E'IJ‘.I‘I.I.FI‘.I‘.II

What ig yon= monthly inooma? 25000 [ENTER]
You EmAT 43=-n at laaat 35,000 Baht T2 b0 gualifiad.

What ig yons monthly inooma? 39000 [ENTER]
How many yeas-g hawa you wocked 3t yous onssant jobhd 2 [ENTER]
¥ou Emit hawd Boan amployed oo mood than § yoas-g To Bba gualifiod.

What is youns monthly incoma? 35000 [ENTER]
How maly yRads-i hawd you wocked at yfus Saosoent Jobd 20 [ENTER]
¥on =@ Jualifigd.




3.7 N1SWUSIUNEUANTUNDNUSSILAS
46134

U

Ardnvszazgniiulugusianean (ASCIl code) — lUT1ILAY

A =65 B =066

48 - 57
‘A -'Z' 65 - 90
a' -'Z' 97 - 112
489919 32

(space)

NSLUSHIULNEUBNUSY — NSUIANSYLRENN I USEUNEUNU

‘A’ < ‘B’ -> 65 < 66 -> True




* MSUSYUYU string — WSauLguNazenusely string 2 @1e

* | JTYUNBUNUNINASIELDEN

A0d131 3 9

#include <instream>
n=ing namespace =td:
int main{)

char = = "¥', y ='¥', z = "2';
gtring namel = "Mark™, name2 = "Mary":

1
s
3
a {
o
a
T
8

cont << "x <« ¥y = " << (X < Y] << endl:

2 conot << ™O0 > z = " << (90 > 2) << endl;

10 cont << "namel <« mameZ = " << (namel < name?) << endl:;
11 retorn 0;

12 }

Haan svoams sulUswns

X< y=1
80 » z =0
namel < name2 = 1




3.8 N1SLUSHULNIUAAEY switch

=

o TolunsalNun19LaanuInnI 2 N4

* yaFenusazneiadudiiay use enusy

switch (A2uU537UULAL)

{ o 0
NanNNIININIU

- winAdwUsessiutinaila Aagvihgadanie

case (IwavuA1AN) :

//qﬂﬁqé’aﬁé\’mms“lﬁ’lﬂmnﬁm‘i'mu Vit
UNUN
break;

case (@naraasi) : mnednlshiassiuinailaiay agvin

// yardsiidiosnslfiusunsuvinay Yare default unu

v A 1o o ! 1% =
break; vuduldrds break; siovnglunnnsel
default : Why???
/* gadrdefidanislilusunsuritaruiions

Wisuisulinsanunsailawae */
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finclude <jig3Lream-
using namespace std:

int main ()
{
char choice:

cout << "Enter a, b, c
cin >» choice;

switch({choice)
{ case 'a' : coub <<
break:
case 'b' : cout <<
break;
case 'c' : coub << c.'\n
break:
case cout << d.s\n"
break:

default : cout << "You did not enter a, b, ¢ or d.™ << endl:

return 0:

paan svoams suldsua@ml
Enter a, b, c or d : b[ENTER]
You enter b.

Enter a, b, c or d : z[ENTER]
You did not enter a, b, ¢ or d.




